

Le Sueur County, MN

Tuesday, January 8, 2019
Board Meeting

Item 8

10:10 a. m. Jeff Neisen, IT Director (5 min)

Staff Contact:



Le Sueur County - SWA



Prepared by: Marco - Mankato Doug Doyle 320.259.3001 x8652 doug.doyle@marconet.com

Prepared for: LE SUEUR COUNTY

, Jeff Neisen 507.357.8101 jneisen@co.le-sueur.mn.us

Ship To:

LE SUEUR COUNTY

88 S PARK AVE
LE CENTER, MN 56057
Jeff Neisen
507.357.8101
jneisen@co.le-sueur.mn.us

Quote Information:

Quote #: 033178

Version: 1

Date Issued: 12/31/2018 Expiration Date: 01/27/2019 Special Pricing Program:

NJPA

Executive Summary

Mitel

Please note that Mitel does charge a re-enlistment fee of 100% of annual renewal rate if Software Assurance is not ordered prior to the expiration date. To avoid incurring additional charges, please submit approval well in advance of the expiration date. The Mitel Software Assurance Program focuses on delivering excellence in software support, providing comprehensive access to software updates, new functionality, and region specific technical support arrangements. Designed for life-cycle cost certainty, the Mitel Software Assurance Program delivers long-term customer investment protection for Unified Communications solutions and complements Mitel warranty and regional service agreements.

Mitel Software Assurance - 1 Year Option

Description	Price	Qty	Ext. Price
This quote is based on the Mitel Sourcewell (formerly NJPA) contract #040314-MBS			
Software Assurance 12/21/2018-12/20/2019			
MITEL SOFTWARE ASSURANCE DESIGNATED LICENSE MANAGER (EDI)	\$1,397.52	1	\$1,397.52
MITEL ULM AGGREGATE ENTERPRISE SOFTWARE ASSURANCE (EDI)	\$79.20	1	\$79.20
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$90.00	1	\$90.00
MITEL MICOLLAB (MAS) SOFTWARE ASSURANCE (EDI)	\$773.28	1	\$773.28
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$90.00	1	\$90.00
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$90.00	1	\$90.00

ubtotal: \$2,520.00

Le Sueur County Board Meeting - 1/8/2019 Page 2 / 9



Mitel Software Assurance - 3 Year Option Option

* Optional Section

Description	Price	Qty	Ext. Price
This quote is based on the Mitel Sourcewell (formerly NJPA) contract #040314-MBS			
Software Assurance 12/31/2018-12/30/2021			
MITEL SOFTWARE ASSURANCE DESIGNATED LICENSE MANAGER (EDI)	\$3,948.49	1	\$3,948.49
MITEL ULM AGGREGATE ENTERPRISE SOFTWARE ASSURANCE (EDI)	\$181.66	1	\$181.66
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$206.42	1	\$206.42
MITEL MICOLLAB (MAS) SOFTWARE ASSURANCE (EDI)	\$1,773.00	1	\$1,773.00
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$206.42	1	\$206.42
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$206.42	1	\$206.42

^{*} Optional Subtotal:

\$6,522.41

Mitel Software Assurance - 5 Year Option Option

* Optional Section

Description	Price	Qty	Ext. Price
This quote is based on the Mitel Sourcewell (formerly NJPA) contract #040314-MBS			
Software Assurance 12/31/2018-12/30/2023			
MITEL SOFTWARE ASSURANCE DESIGNATED LICENSE MANAGER (EDI)	\$6,387.31	1	\$6,387.31
MITEL ULM AGGREGATE ENTERPRISE SOFTWARE ASSURANCE (EDI)	\$293.86	1	\$293.86
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$333.92	1	\$333.92
MITEL MICOLLAB (MAS) SOFTWARE ASSURANCE (EDI)	\$2,869.08	1	\$2,869.08
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$333.92	1	\$333.92
MITEL MIVOICE BUSINESS SOFTWARE ASSURANCE (EDI)	\$333.92	1	\$333.92

^{*} Optional Subtotal:

\$10,552.01

Le Sueur County Board Meeting - 1/8/2019 Page 3 / 9



ITsavvy LLC 313 South Rohlwing Road Addison, IL 60101 www.ITsavvy.com

Quote Details		
Quote #:	3178615	
Date:	12/20/2018	
Payment Method:	Net 30 Days	
Client PO#:		
Cost Center:		
Shipping Method:	Ground	

Bill To: ACCT #: 574110 Le Sueur County Accounts Payable 88 S Park Ave Le Center, MN 56057 United States

507-357-8286

Ship To: Le Sueur County Jeff Neisen 88 S Park Ave Le Center, MN 56057-1658 United States 507-357-8286 Client Contact: Jesse Aland (P) 507-357-8579 jaland@co.le-sueur.mn.us Client Executive: Jason Hawkins (P) 630.396.6318 (F) 630.396.6322 jhawkins@ITsavvy.com

Description: PC/Monitors 2019

	Item Description	Part #	Tax	Qty	Unit Price	Total
1	HP ProDesk 600 G4 SFF - 1 x Core i5 8500 / 3 GHz - RAM 8 GB - HDD 1 TB - DVD-Writer - UHD Graphics 630 - GigE - Win 10 Pro 64-bit - monitor: none - keyboard: US - Smart Buy Manufacturer Part #: 4HJ87UT#ABA	21231865	Y	59	\$689.41	\$40,675.19
2	HP EliteBook 850 G5 Core i7 8550U / 1.8 GHz - Win 10 Pro 64-bit - 8 GB RAM - 256 GB SSD NVMe, TLC, HP Value - 15.6" IPS 1920 x 1080 (Full HD) - UHD Graphics 620 - Wi-Fi, NFC, Bluetooth - kbd: US Manufacturer Part #: 3RS07UT#ABA	20840598	Y	17	\$1,188.03	\$20,196.51
3	Crucial DDR4 - 8 GB - SO-DIMM 260-pin - 2400 MHz / PC4-19200 - CL17 - 1.2 V - unbuffered - non-ECC Manufacturer Part #: CT8G4SFS824A	16817404	Y	17	\$59.51	\$1,011.67
4	HP EliteDesk 800 G4 SFF - 1 x Core i7 8700 / 3.2 GHz - RAM 8 GB - HDD 1 TB - DVD-Writer - UHD Graphics 630 - GigE - Win 10 Pro 64-bit - vPro - monitor: none - keyboard: US Manufacturer Part #: 4BM68UT#ABA	21233910	Y	11	\$820.25	\$9,022.75
5	Crucial DDR4 - 8 GB - DIMM 288-pin - 2666 MHz / PC4-21300 - CL19 - 1.2 V - unbuffered - non-ECC Manufacturer Part #: CT8G4DFS8266	20504480	Y	11	\$59.51	\$654.61
6	Planar PLL2210W LED monitor - 22" (21.5" viewable) - 1920 x 1080 Full HD (1080p) - 250 cd/m² - 1000:1 - 5 ms - DVI-D, VGA - black - with 3-Years Warranty Planar Customer First Manufacturer Part #: 997-6897-00	13810375	Y	69	\$88.77	\$6,125.13
7	Planar PLL2410W LED monitor - 24" (23.6" viewable) - 1920 x 1080 Full HD (1080p) - 300 cd/m² - 1000:1 - 5 ms - DVI-D, VGA - black - with 3-Years Warranty Planar Customer First Manufacturer Part #: 997-6871-00	13813242	Y	12	\$102.87	\$1,234.44
8	Planar Dual Monitor Stand for 2 LCD displays - black - screen size: 15"-24" Manufacturer Part #: 997-5253-00	13818438	Y	5	\$63.49	\$317.45
9	EVGA GeForce GT 1030 Graphics card - GF GT 1030 - 2 GB GDDR5 - PCle 3.0 x16 low profile - DVI, HDMI Manufacturer Part #: 02G-P4-6332-KR	20584926	Y	25	\$77.86	\$1,946.50
10	C2G DVI to VGA Video Adapter DVI Adapter - DVI to HD15 - M/F - DVI adapter - DVI-A (M) to HD-15 (VGA) (F) Manufacturer Part #: 26956	13995876	Y	25	\$5.00	\$125.00
11	HP UltraSlim Docking Station 2013 Docking station - VGA, 2 x DP - 65 Watt - US - for EliteBook 830 G5, 840 G5, 850 G5; ProBook 64X G4, 650 G4; ZBook 14u G4, 14u G5, 15u G5 Manufacturer Part #: D9Y32AA#ABA	14783760	Y	16	\$125.57	\$2,009.12
12	NVIDIA GeForce GT730 Graphics card - GF GT 730 - 2 GB DDR3 - PCle x8 low profile - DVI, DisplayPort - for HP 285 G3; EliteDesk 800 G3 (SFF, tower), 800 G4; ProDesk 400 G4, 600 G3 Manufacturer Part #: Z9H51AA	20322602	Y	4	\$98.41	\$393.64
13	C2G 8in DisplayPort to VGA Adapter Converter VGA Adapter - M/F Black - DisplayPort cable - DisplayPort (M) to HD-15 (VGA) (F) - 8 in - latched - black	16001560	Y	18	\$20.00	\$360.00

Manufacturer Part #: 54323

Fair M	arket Value	\$1 Buy Out		
3 Year FMV / Year	5 Year FMV / Year	3 Year \$1 / Year	5 Year \$1 / Year	
\$27,827.77	\$18,646.58	\$30,366.35	\$19,151.96	

Lease prices listed above are estimates. They apply for Public School and Municipal Entities only. They are based upon individual credit review and approval. Your final rates will be determined after credit review.

Subtotal: \$84,072.01 Shipping: \$0.00 Tax: Exempt

TOTAL: \$84,072.01

ITsavvy is always looking to deliver the lowest cost possible to our clients. This results in fluctuating prices that you will find are lower more often than not. However, prices are subject to increases without notice in the event of a manufacturer or distributor price increase. Available inventory is subject to change without notice. This document is a quotation only and is not an order or offer to sell.

We do accept credit cards for payment. However, if the credit card is provided after the order has been invoiced there will be a charge of 3% of the total purchase.

Unless specifically listed above, these prices do NOT include applicable taxes, insurance, shipping, delivery, setup fees, or any cables or cabling services or material.

All non-recurring services are 50% due upon signing of contract, 40% due upon delivery of equipment, balance due upon install.

ITsavvy's General Terms and Conditions of Sale, which can be found at www.ITsavvy.com/termsandconditions, shall apply to and are incorporated into all agreements with Client, including all Orders.

Printed Name:	Title:
Authorized Signature:	Date:



Le Sueur County - HP Computers & Laptops



Prepared by:
Marco - Mankato
Doug Doyle
320.259.3001 x8652
doug.doyle@marconet.com

Prepared for:
LE SUEUR COUNTY

, Jeff Neisen 507.357.8101 IT@co.le-sueur.mn.us Ship To:

LE SUEUR COUNTY 88 S PARK AVE LE CENTER, MN 56057 Jeff Neisen 507.357.8101 IT@co.le-sueur.mn.us **Quote Information:**

Quote #: 033408

Version: 1

Date Issued: 01/03/2019 Expiration Date: 02/01/2019

HP Computer & Laptop Options

* This Tab Contains Optional Items

Part Number	Description	Price	Qty	Ext. Price
	ProDesk 600 G4			
4HJ87UT#ABA	HP Business Desktop ProDesk 600 G4 Desktop Computer - Intel Core i5 (8th Gen) i5-8500 3 GHz - 8 GB DDR4 SDRAM - 1 TB HDD - Windows 10 Pro 64-bit (English) - Small Form Factor - Black, Gray - DVD-Writer DVD±R/±RW - Intel UHD Graphics 630 Graphics	\$732.52	59	\$43,218.68
	EliteBook 850 G5			
3RS07UT#ABA	HP EliteBook 850 G5 15.6" LCD Notebook - Intel Core i7 (8th Gen) i7- 8550U Quad-core (4 Core) 1.80 GHz - 8 GB DDR4 SDRAM - 256 GB SSD - Windows 10 Pro 64-bit (English) - 1920 x 1080 - In-plane Switching (IPS) Technology - Intel UHD Graphics 620 DDR4 SDRAM	\$1,275.87	17	\$21,689.79
	Optional Laptops			
4NL15UT#ABA	HP ZBook 15v G5 15.6" LCD Mobile Workstation - Intel Core i7 (8th Gen) i7-8750H Hexa-core (6 Core) 2.20 GHz - 8 GB DDR4 SDRAM - 256 GB SSD - Windows 10 Pro 64-bit (English) - 1920 x 1080 - In-plane Switching (IPS) Technology - Turbo Silver - NVIDIA Quadro	\$1,538.79	17*	\$26,159.43
4TN71UT#ABA	HP EliteBook 755 G5 15.6" LCD Notebook - AMD Ryzen 7 2700U Quad- core (4 Core) 2.20 GHz - 8 GB DDR4 SDRAM - 256 GB SSD - Windows 10 Pro 64-bit (English) - 1920 x 1080 - In-plane Switching (IPS) Technology - AMD Radeon RX Vega 10 Graphics DDR4 SDRAM - Bluet	\$1,166.41	17*	\$19,828.97
	EliteDesk 800 G4			
4BM68UT#ABA	HP EliteDesk 800 G4 Desktop Computer - Intel Core i7 (8th Gen) i7- 8700 3.20 GHz - 8 GB DDR4 SDRAM - 1 TB HDD - Windows 10 Pro 64- bit (English) - Small Form Factor - DVD-Writer - Intel UHD Graphics 630 Graphics - Intel Optane Memory Ready - English Keyboar	\$870.66	7	\$6,094.62

According to HP, the EliteDesk 800 G4 power supply isn't sufficient enough to support quad graphics. We've provided an option for the Z2 Workstation for this solution. They're recommending higher end workstations for this solution as well. I've listed a more value-based 24" monitor below under options for any other machines that may need a 24" monitor.

HP Workstation Z2 G4: (Quad Display Capable)

Page: 2 of 5 Quote #033408 v1 Job #: CONFIDENTIAL | MARCO

Le Sueur County Board Meeting - 1/8/2019 Page 6 / 9



			•	
13371820	Z2 SFF WS G4 I7/3.7 6C 8GB 1TB W10P 64	\$1,172.05	4	\$4,688.20
1FH47A8	HP EliteDisplay E243i 24-inch Monitor	\$174.31	16	\$2,788.96
2MY05AA	HP DisplayPort/Mini DisplayPort Audio/Video Cable - DisplayPort/Mini DisplayPort for Audio/Video Device, Workstation - DisplayPort Digital Audio/Video - Mini DisplayPort Digital Audio/Video	\$10.58	16	\$169.28
4 Cables needed per	722 Workstation needing quad displays			
	Ultra Slim Dock			
D9Y32AA#ABA	HP UltraSlim Dock 2013 - for Notebook - Proprietary - 4 x USB Ports - 4 x USB 3.0 - Network (RJ-45) - VGA - DisplayPort - Audio Line In - Audio Line Out - Docking	\$137.83	16	\$2,205.28
	RAM, Dual Monitor Stand & DisplayPort to VGA Adapter			
12573151	8GB MEM DDR4 2400MHZ SODIMM	\$70.13	17	\$1,192.21
13059731	8GB DDR4 2666MHZ MOD	\$70.13	11	\$771.43
997-5253-00	Planar AS2 Black Dual Monitor Stand - Up to 66lb - Up to 24" LCD Monitor - Black - Desk-mountable	\$72.00	5	\$360.00
DISPLAYPORT2VGA	AddOn 8in DisplayPort Male to VGA Female Black Adapter (Requires DP++) - 100% compatible and guaranteed to work	\$16.93	41	\$694.13
	HP N223 21.5" Monitor			
3ML60A6#ABA	HP N223 21.5" WLED LCD Monitor - 16:9 - 5 ms GTG - 1920 x 1080 - 16.7 Million Colors - 250 Nit - 10,000,000:1 - Full HD - HDMI - VGA - 20 W - Black - Australia/New Zealand MEPS, WEEE, Vietnam MEPS, TÜV S, CECP, China Energy Label (CEL), ENERGY STAR 7.0	\$89.13	69	\$6,149.97
	Optional Monitors, Monitor Stands, DisplayPort to VGA Adapters and RAM			
X7R62A8#ABA	HP Business P223a 21.5" LED LCD Monitor - 16:9 - 5 ms - 1920 x 1080 - 250 Nit - 5,000,000:1 - Full HD - Speakers - VGA - DisplayPort - 32 W - Black - REACH, TCO Certified Displays, SmartWay, TCO Certified Edge, CECP, China Energy Label (CEL), TÜV	\$112.37	69*	\$7,753.53
1JS05A8#ABA	HP Business Z22n G2 21.5" LED LCD Monitor - 16:9 - 5 ms - 1920 x 1200 - 16.7 Million Colors - 250 Nit - 10,000,000:1 - WUXGA - HDMI - VGA - DisplayPort - USB - 30 W - Space Silver, Black Pearl - WEEE, ErP, Vietnam MEPS, Australia/New Zealand MEPS, TÜV S,	\$174.01	69*	\$12,006.69
ARMPIVOTE	StarTech.com Single Monitor Mount - Gas-spring - Monitors up to 24" - Monitor Arm Desk Mount - VESA Mount - Monitor Stand - 12" to 24" Screen Support - 8 lb Load Capacity - Steel, Plastic - Black	\$83.97	69*	\$5,793.93
BT861AT	HP Mounting Arm for Flat Panel Display	\$145.90	69*	\$10,067.10
1RM28A6#ABA	HP N246v 23.8" WLED LCD Monitor - 16:9 - 5 ms GTG (OD) - 1920 x 1080 - 16.7 Million Colors - 250 Nit - 10,000,000:1 - Full HD - DVI - HDMI - VGA - 25 W - Black - WEEE, CECP, China Energy Label (CEL), TÜV Rheinland, TÜV	\$98.04	12*	\$1,176.48

Page: 3 of 5 Quote #033408 v1 Job #: CONFIDENTIAL | MARCO

Le Sueur County Board Meeting - 1/8/2019 Page 7 / 9



N3H14A8#ABA	HP Business P240va 23.8" LED LCD Monitor - 16:9 - 8 ms - 1920 x 1080 - 16.7 Million Colors - 250 Nit - 5,000,000:1 - Full HD - HDMI - VGA - DisplayPort - 32 W - Black - Australia/New Zealand MEPS, WEEE, SmartWay, Vietnam MEPS, TCO Certified Edge, CECP, Ch	\$130.92	12*	\$1,571.04
1JS07A8#ABA	HP Business Z24nf G2 23.8" LED LCD Monitor - 16:9 - 5 ms - 1920 x 1080 - 250 Nit - 10,000,000:1 - Full HD - HDMI - VGA - DisplayPort - USB - 35 W - Australia/New Zealand MEPS, ErP, WEEE, SmartWay, Vietnam MEPS, TÜV S, China Energy Label (CEL), cTUVus, REA	\$199.56	12*	\$2,394.72
54323	C2G 8in DisplayPort to VGA Adapter Converter - M/F Black	\$17.79	41*	\$729.39
CT8G4SFD824A	Crucial 8GB DDR4 SDRAM Memory Module - 8 GB - DDR4 SDRAM - 2400 MHz DDR4-2400/PC4-19200 - 1.20 V - Unbuffered - 260-pin - SoDIMM	\$69.72	17*	\$1,185.24
AS615AT	HP DisplayPort To VGA Adapter - DisplayPort/VGA for Monitor, Graphics Card - 8" - DisplayPort Male Video - HD-15 Female VGA - Black	\$33.72	41*	\$1,382.52
True HP Display to connect to a 2	Port to VGA Adapter (Recommended) To be used for 16 UltraSlim Dond VGA Monitor	ock Stations and 25	5 ProDe	sk 600 Computer
Z4Y85UT	HP 8GB DDR4 SDRAM Memory Module - 8 GB - DDR4 SDRAM - 2400 MHz - SoDIMM	\$135.79	17*	\$2,308.43
3TK87AT	HP 8GB DDR4 SDRAM Memory Module - 8 GB (1 x 8 GB) - DDR4 SDRAM - 2666 MHz DDR4-2666/PC4-21333 - 288-pin - DIMM	\$139.19	11*	\$1,531.09

* Optional Subtotal: \$93,888.56

Subtotal: \$90,022.55

Page: 4 of 5 Quote #033408 v1 Job #: CONFIDENTIAL | MARCO

Le Sueur County Board Meeting - 1/8/2019 Page 8 / 9



Quote Summary - One-Time Expenses

Description	Amount
HP Computer & Laptop Options	\$90,022.55
T	****

Total:

\$90,022.55

One-Time * Optional Expenses

Description	One-Time
HP Computer & Laptop Options	\$93,888.56

Optional Subtotal: \$93,888.56

Payment Terms:

Payment terms are net 15 days from date of Invoice. For orders over \$25,000, we require a twenty-five percent down at time of order. All Software and Hardware are invoiced at the time of delivery to the customer. Professional Services are due upon completion of the engagement or with progress billing as laid out in the scope of services.

Warranty:

Your equipment is covered by it's respective manufacturer warranties. Please consult the warranty documentation that accompanies the product for details. Any charges from the manufacturer are the sole responsibility of the customer (including, but not limited to, shipping, travel and/or labor charges). Marco can provide assistance with the processing of these warranties for a processing fee. Optional contracts or warranty enhancements are available for an additional fee at the time of purchase.

Returns:

Upon receipt of merchandise, make sure specifications are correct before opening or marking merchandise. If you need to make a return to Marco, you must: Request to return the UNOPENED merchandise within fifteen (15) days; Product must be returned in the original undamaged/unmarked box; Recognize that special or custom orders are non-returnable; Merchandise can be subject to restock fees and/or denial of return. —For Marco's Complete Return Policy, please refer to: http://www.marconet.com/support/request-return/return-policy/

Tax, Shipping, Errors:

Taxes, shipping, handling and other fees may apply where applicable. We reserve the right to cancel orders arising from pricing or other errors.

	Marco ⁻	Technol	logies,	LLC
--	--------------------	---------	---------	-----

LE SUEUR COUNTY

Signature:	Signature:	
Name:	Name:	Jeff Neisen
Title:	Date:	
Date:	PO Number:	

Page: 5 of 5 Quote #033408 v1 Job #: CONFIDENTIAL | MARCO